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Supplementary Note 1
ODEs:

% [A] = —2ka1[A]? + 2kd [A:A] — ka2[A][50] + kaa[A:50]

% [50] = —ku2[A][50] + kd,[A:50] — 2ka3[50]% + 2ky3[50:50]

d
7 [AA] = ke [A]? — ks [A:A] — koo[A:A][o] + kae[A:A:cl]

% [A:50] = kg2[A][50] — kd2[A:50] — ka7 [A:50][a] + ka7[A:50:0]

d
27 [50:50] = kq3[50]% — kd3[50:50]

d
7 o] = — ke[ AiAl[a] + kaeA:A:a] — kqr [A:50][a] + ka7 [A:50:a]

% [A:A:a] = kg[A:A][a] — kye[A:A:a]

% [A:50:a] = ky7[A:50][a] — kg47[A:50:a]

Parameters:
kal = kaZ = ka3 = ka6 = ka7 = 109 M_ls -1

kg1 =18.65s L kg =035 kg3 =045 kge=0.047 s 5 kg7 =0.041s 71

Initial concentrations:
[A]o = [50]p = [A:A]p = [A:50]¢ = [50:50] = [a]o = [A:Aia]p =0
[A:50:a]¢p = 350 nM



Supplementary Note 2

ODEs:
% [A] = —2kg1[A)? + 2kd [A:A] — kao[A][50] + kg2[A:50]
%[50] = —ka[A][50] + kd2[A:50] — 2ky3[50]% + 2k43[50:50]
% [A:A] = ko1 [A]? — kd1[A:A] — koa[A:A][B] + kaa[A:A:B] — kas[A:A][o] + kge[A:Aza]

% [A:50] = kg2[A][50] — kd2[A:50] — kqs[A:50][B] + kas[A:50:8] — kq7[A:50][a] + kgq7[A:50:a]

d
=7 [50:50] = k35012 — kd3[50:50]

d

T [B] = — kaa[A:A][B] + kaa[A:A:B] — kas[A:50][B] + kas[A:50:B]
d
a@ [A:A:B] = kaa[A:A][B] — kaa[A:A:B]

d
7 [A:50:8] = kos[A:50][B] — kas[A:50:p]

% [a] = — kog[A:A][] + kas[A:Ara] — ka7 [A:50][a] + ka7[A:50:0]

% [A:A:a] = kg[A:A][a] — kye[A:A:x]

% [A:50:a] = ko7[A:50][a] — kar[A:50:q]

Parameters:

ka1 = kaz = ka3 = kaa = ko5 = ka6 = kg7 = 10° M ~1s !

kg1 =186s"L5 k=035 ki3 =04s"1kga=0024s"1; kys=0.895s"L;
kqge=0.047 s 7% kg7 = 0.041 s 71

Initial concentrations:

[Alo = [50]o = [A:A]p = [50:50]¢ = [A:A:B]o = [A:50:8]p = [A:A:a]p = [A:50:a]p = 0
[A:50]p = 350 nM

[Blo =0, 10, 20, 50, or 80 nM

[a]o =0 or 350 nM





